Chapter 20: The Industrial Revolution and Its Impact on European Society

Lesson 1: The Industrial Revolution in Great Britain

Opening the Lesson:

1. There is no specific date as to the start of the Industrial Revolution, but most historians agree that it began in Great Britain around 1750.

2. By 1850, G.B. would be the most industrialized and wealthiest country in the world.

3. By 1900, Germany and the U.S. would surpass G.B. in industrial production.

Developing the Lesson:

I. Origins/Causes
A. 18th Century Agricultural Revolution
1. Changes in the methods of farming and stock breeding resulted in a 

    significant increase in food production.

2. Consequently, British agriculture could now feed more people at lower   

    prices with less labor.  Also, excess money allowed the British use  

    surplus cash to purchase manufactured goods.

3. Population increases created a pool of labor for new factories. As well   

    as rural workers forced out of traditional cottage industries.


B. Capital



1. Plenty of sources of capital.



2. The English revolutions of the seventeenth century gave political power 

    to individuals that favored innovation in economic matters.



3. Early industrial entrepreneurs lost money as quickly as they made it.


C. Natural Resources



1. Large amounts of coal and iron ore.



2. The construction of roads, bridges and canals linked the major industrial 

    centers.


D. Parliament



1. Political stability resulted in economic stability/prosperity.



2. Passed laws protecting private property.



3. Placed fewer restrictions on private entrepreneurs than any other 

                      European state.


E. The Market (Supply/Demand)



1. Markets gave industrialists an open outlet for their manufactured goods.



2. Between 1660 and 1760, British exports doubled.



3. Overseas colonies expanded at the expense of the Dutch Republic and 



    France.



4. Most of these colonies needed simple cloths not luxury items.



5. In order to keep up with the demand for simple cloth, British 



    industrialists developed (invented) new machines that could 



    manufacture cloth at faster and faster rates.

II. Technological Changes and New Forms of Industrial Organization

A. The Cotton Industry

1. The domestic system could not keep up with the demand for cloth

a. new ways to manufacture cloth developed in the early 1700s

b. each invention triggered other inventions or innovations

2. What new inventions/innovations developed?

a. the flying shuttle

1) invented by John Kay 1733

2) enabled the weaver to throw the shuttle back and forth between the threads with one hand

3) weavers used thread faster than spinners could produce 

b. the spinning jenny

1) invented by James Hargreaves 1764

2) allowed the spinning of several threads at once

c. the water frame

1) invented by Richard Arkwright 1769

2) machines that held 100 spindles and was operated by water power because too heavy for hand operation

3) mechanical spinning overwhelmed the weavers which led to –

d. the power loom

1) invented by Edward Cartwright 1785

2) powered by water and produced 200x more cloth

3) this created a demand for more cotton leading to –

e. the cotton gin

1) invented by Eli Whitney 1793

2) sped the process of cleaning cotton fibers

3. The factory system replaced the domestic system – why?

a. spinning and weaving machines were large and expensive

b. machines had to be set up near rivers

c. this brought workers and machines to one place

B. The Steam Engine, “Steam is an Englishmen”

1. Because timber was limited on the British Isles, huge quantities of coal and iron were required to operate the steam engines and Britain had plenty of both.

2. Problems in the production of iron and steam.

a. Ore must be heated to burn off impurities.

b. Charcoal was used to heat ore and produce steam.

c. Wood became scarce for charcoal.

d. Method discovered that easily converted coal into coke.

3. A workable, safe steam engine was developed by James Watt in 1769.

4. Steam powered the I.R.

a. Brought changes to the iron and coal industry.

b. Revolutionized transportation.

c. By 1850, 7/8th of the power used by the British cotton industry came from steam.

d. In 1760, Britain imported 2.5 million pounds of raw cotton.

e. In 1787, Britain imported 22 million pounds of raw cotton.

f. In 1840, Britain imported 366 million pounds of cotton. Most came from American plantations that used slave labor.

g. Cheap cloth allowed the lower classes, for the first time, to wear underwear.

h. In 1800, engines were generating 10,000 horsepower; in 1850, they were generating 500,000.

i. Steam engines, a tireless source of power, were more efficient than horses and waterpower (used in flour and sugar mills)—as long as they were fed with coal.

j. The demand for coal furthered the development of the iron industry.

C. The Iron Industry

1. The production of iron remained static since the Middle Ages (depended heavily on charcoal).

2. Henry Cort, in the 1780s, developed a system known as “puddling.”

a. Coke was used to burn away the impurities found in pig iron.

b. Production of iron dramatically increased.

· 1740=17,000 tons

· 1780s=70,000 tons

· 1840s=2 million tons

· 1852=3 million tons (more than the rest of the world combined)

3. Cheaper priced, high quality, iron encouraged the development of machinery for other industries—especially, in transportation.

D. A Revolution in Transportation

1. Roads.

2. Canals.

3. Railroads.

· 1840=2,000 miles of railroads.

· 1850=6,000 miles.

4. What was the impact of the growth of railways to the industrial revolution?

· Growth of the iron and coal industries.

· Growth of civil and mechanical engineering.

· Development of new “middle-class” investors (raise capital).

· New job opportunities for farmers and peasants.

· Most important—a cheaper and faster means of transportation led to an “industrial economy.”

E. The Industrial Factory, “To make such machines of the men as cannot err”

1. The cottage industry was replaced by the factory system.

2. Skilled craftsmen were now paid a wage to work a machine and not for the overall product.  How did this impact the psyche of these individuals?

· The factory system changes the nature of work.  Prior to this system products could be produced at irregular intervals.  The factory system demanded that workers maintain a scheduled and timed work regiment.

· The work was also repetitive and boring.

· Discipline—adults would be fired, especially for being drunk and children would be beaten.

III. Britain’s Great Exhibition of 1851

A. Purpose.

1. To showcase British industrial achievements.

2. 100,000 exhibits.

      3.  Six million visitors in six months.

B. Prince Albert (Queen Victoria’s son)

· “Man is approaching a more complete fulfillment of that great and sacred mission which he has to perform in this world…to conquer nature to his use.”

· “In promoting [the progress of the human race], we are accomplishing the will of the great and blessed God.”

Concluding the Lesson:
1.  By 1851 G.B., was the world’s first and richest industrial nation.

2.  G.B. produced ½ of the world’s coal and manufactured goods.

3.  G.B.’s cotton industry was larger than all other European nations combined.

